

ABSTRACT

Announcement - Announcement made by Hon'ble Minister for Health and Family Welfare in the floor of the Tamil Nadu Legislative Assembly during the Demand No. 19 – (Announcement No.26) – A sum of Rs.98,36,470/- (Rupees Ninety-Eight Lakh, Thirty-Six Thousand, Four Hundred and Seventy only) to Director of Medical and Rural Health Services towards the Strengthening of Trauma and Emergency Care in Government Hospital, Pattukottai, Thanjavur District – Sanctioned - Orders- Issued.

HEALTH AND FAMILY WELFARE (EAPI-1) DEPARTMENT

G.O.(Ms)No.442

Dated: 11.10.2021 Thiruvalluvar Aandu – 2052 Pilava, Puratasi – 25

Read:

From the Project Director, Tamil Nadu Health System Reform Program Letter Ref. No.5547/TNHSRP/PMU/TRAUMA/2020, Dated: 31.08.2021.

ORDER:

The Hon'ble Minister for Health and Family Welfare has made the following Announcement in the floor of the Tamil Nadu Legislative Assembly during the Demand No. 19.

(Announcement No. 26):

"உளுந்தூர்பேட்டை, ஒசூர், ஜெயம்கொண்டம், பொள்ளாச்சி மற்றும் பட்டுக்கோட்டை ஆகிய 5 மாவட்ட மருத்துவமனைகளில் ஒருங்கிணைந்த அவசரசிகிச்சை (Trauma Emergency Care Centre) சேவைகளை மேம்படுத்த ரூபாய் 17.07 கோடி செலவில் புதிய கட்டடங்கள் கட்டப்படும்".

2. Based on the above announcement, the Project Director, Tamil Nadu Health System Reform Program has sent proposal approved by the State Empowered Committee headed by Chief Secretary for the Strengthening of Trauma and Emergency Care at Government Hospital Pattukottai, Thanjavur and stated that to strengthen the trauma and emergency care, the Government of Tamil Nadu has launched Tamil Nadu Accident and Emergency care Initiative (TAEI) Program in 2017and 82 Government health facilities were designated as TAEI facilities. These TAEI centres are dealing with 6 pillars, namely Trauma, MI, Stroke, Poison, Burns Paediatric Emergencies and other life-threatening conditions. As a front-line face lifting unit in institution, these centres play a major role in quality management and bring down the mortality. Further, gap analysis are being done regularly to identify new centres in the state to upgrade as a TAEI Centre with the provision of Infrastructures like Civil Modifications, Equipments, etc.

- 3. The Project Director, Tamil Nadu Health System Reform Program has stated that the Government Hospital, Pattukottai, Thanjavur District is one among them identified for Upgradation as TAEI centre. The Government Hospital is covering 1,00,000 population with-in the town and 1,00,000 population from surrounding areas. It is located in the Major state Highway and 50 Km away from the Govt. Medical College Hospital, Thanjavur. Any emergency cases including Trauma from within the town and from the surrounding areas are reported to this centre, as it is located strategically. Due to lack of infra-structure, the cases are being shifted to the Medical college which takes the travelling time more than an one hour which lead to losing the advantage of Golden hour to save the life.
- 4. The Project Director, Tamil Nadu Health System Reform Program has furnished the vital statistics relates to Government Hospital Pattukottai as follows:-

Name of the Hospital	Govt Hospital, Pattukottai				
Type of Hospital	Taluk Hospital Thanjavur 300				
District					
Bed Strength					
Indicators	2016– 17	2017 - 18	2018 - 19	2019 - 20	2020- 21
BOR	49	54	56	55	49
OP /Day	717	813	897	902	888
IP /Day	147	162	168	165	148
Major Surgeries / Month	169	144	168	172	159
Minor Surgeries / Month	449	600	691	629	519
Total Deliveries / Month	166	183	187	179	227
Total Caesareans / Month	103	103	111	103	122
Investigations / Month	20512	35655	57821	70434	75862

5. The Project Director, Tamil Nadu Health System Reform Program has furnished the requirements for Strengthening Government Hospital, Pattukottai in Thanjavur District as follows:-

SI. No	Components	Cost for GH, Pattukottai (Rs. in Lakhs)	
	Civil Works through PWD (N	on Recurring)	
1	Minor civil modification of Trauma and Emergency care centre (through PWD)	30,00,000	
	Equipment(Annexure I)throug	h TNMSC (Non recurring)	
2	Emergency Room	32,02,000	
3	Hybrid High Dependency Unit	34,34,470	
	Total amount for Equipments	66,36,470	
	V.C. (1974) 1974		
-	Operational Cost (Re	curring)	
4	Operational Cost (Red	curring) 2,00,000	

- 6. The Project Director, Tamil Nadu Health System Reform Program has requested the Government to issue necessary orders in this regard.
- 7. The Government after careful consideration of the proposal of the Project Director, Tamil Nadu Health System Reform Program have decided to accept the same and accordingly issue the following orders:
 - i. Sanction is accorded for a sum of Rs.98,36,470/-(Rupees Ninety Eight Lakh, Thirty Six Thousand, Four Hundred and Seventy only) to Director of Medical and Rural Health Services towards the Strengthening of Trauma and Emergency Care in Government Hospital, Pattukottai, Thanjavur District as detailed below:-

1. Civil

- Rs.30,00,000/-

2. Equipments

- Rs.66,36,470/-

3. Operational Cost -

Rs.2,00,000/-

- ii. The Director of Medical and Rural Health Services is permitted to do Minor Civil Modification of Trauma and Emergency Care Center through the Public Works Department (PWD) at the cost of Rs.30,00,000/- (Rupees Thirty Lakh only) and to procure the equipments at the cost of Rs.66,36,470/- through Tamil Nadu Medical Services Corporation as annexed to this Government Order for Government Hospital, Pattukottai, Thanjavur District.
- iii. The Director of Medical and Rural Health Services is authorized draw and disburse the above amount.
- iv. The Director of Medical and Rural Health Services is permitted to draw and deposit the amount sanctioned for equipment into Personal Deposit account of Tamil Nadu Medical Services Corporation.
- 8. The above said amount shall be met out from the existing budget provision of RBE 2021-2022.
- 9. The expenditure sanction in para 7 (i) above shall be debited to the following head of account respectively:-
 - (i) For the civil work, Rs.30,00,000/-

2210-Medical and Public Health-01 Urban Health Services - Allopathy-110 Hospitals and Dispensaries - Externally Aided Project-PD, Tamil Nadu Health Systems Reforms Project-Administrated by Director of Medical and Rural Health Services- 317 - Minor works - 01 - Minor works

(DPC Code 2210-01-110 PD 31701)

(ii) For the equipment purchase, Rs.66,36,470/-

2210-Medical and Public Health-01 Urban Health Services - Allopathy-110 Hospitals and Dispensaries - Externally Aided Project - PD, Tamil Nadu Health Systems Reforms Project-Administrated by Director of Medical and Rural Health Services- 319 - Machinery and Equipments- 01 - Purchase

(DPC Code 2210-01-110 PD 31901)

(iii) For the Operational Cost, Rs.2,00,000/-

2210-Medical and Public Health-01 Urban Health Services - Allopathy-110 Hospitals and Dispensaries - Externally Aided Project - PD, Tamil Nadu Health Systems Reforms Project-Administrated by Director of Medical and Rural Health Services-305 Office expenses-02 Other contingences

(DPC Code 2210-01-110 PD 30502)

10. This order issues with the concurrence of the Finance Department vide its U.O.No.41404/Finance/Health-II/2021, Dated: 04.10.2021.

(BY ORDER OF THE GOVERNOR)

J.RADHAKRISHNAN PRINCIPAL SECRETARY TO GOVERNMENT

To

The Project Director, Tamil Nadu Health System Reform Program, Chennai-6.

The Mission Director, State Health Society, Chennai-6.

The Managing Director, Tamil Nadu Medical Services Corporation Ltd, Egmore, Chennai-8.

The Project Director, Tamil Nadu Urban Health Project, Chennai-6.

The Director of Medical Education, Chennai-10.

The Director of Medical and Rural Health Services, Chennai-6

The Director of Public Health and Preventive Medicine, Chennai-6

The Accountant General (A&E), Chennai- 18.

The Pay and Accounts Officer (south), Chennai-35

The Commissioner of Treasuries and Accounts, Nandhanam, Chennai-35.

Copy to

The Special Personal Assistant to Hon'ble Minister (Health and Family Welfare), Chennai-9.

The Principal Private Secretary to Chief Secretary, Chennai-9.

The Health and Family Welfare Department, (Data cell) Chennai-9. SF/SC.

//FORWARDED BY ORDER //

SECTION OFFICER

Annexure to G.O.(Ms)No.442, Health and Family Welfare (EAPI-1) Department, <u>Dated: 11.10.2021.</u>

Level III Trauma Care Equipment

S.No	ER EQUIPMENTS	Unit Cost in	Required number	Total
1	Defibrillator	200000	1	200000
2	Suction Apparatus	10000	2	20000
3	Volume Infusion Pump	30000	2	60000
4	Syringe Infusion Pump	23000	2	46000
5	Mobile X Ray	350000	1	350000
6	Crash Cart	20000	3	60000
7	Pulseoximeter	80000	2	160000
8	Flash Autoclave Machine	300000	1	300000
9	Dressing Trolley	10000	2	20000
10	Stretchers/Multi Functional Stretcher	25000	5	125000
11	Wheel Chair	9000	3	27000
12	Spine Board	7000	1	7000
13	Scoop Board	7000	1	7000
14	Auto Clave Machine	150000	1	150000
15	Emergency Recovery Trolley MS- Resuscitation bay cot	35000	2	70000
16	Fowlers Cot (Red Zone)	35000	3	105000
17	Semi Fowlers Cot (Green Zone)	20000	2	40000
18	Fowlers Cot (Yellow Zone)	35000	3	105000
19	Multi-Para Monitor	150000	3	450000
20	Ventilator	900000	1	900000
	Total			3202000

Hybrid High Dependency Unit (HHDU) Equipment

SI.	Name of the Equipment	Unit Cost in Rupees	Required Number	Amount in Rs.
1	Special ICU wheeled cots with tilting and Trendelenburg facility	92040	2	184080
2	Multi Para monitor - ECG, SPO2, NIBP (Non-invasive BP and Temperature) at the head end	186000	2	372000
3	Multi Para monitor - ECG, SPO2, NIBP (Non-invasive BP and Temperature) at the head end with EtCO2 measurement and upgradable to invasive monitoring	390880	1	390880
4	Syringe pump mounted on IV stand/bed (8)	22000	2	44000
5	infusion pump mounted on IV stand/bed (6)	25000	2	50000

			Total	3434470
18	Central pipelines for supply of Oxygen (2 outlets on each bed), Central Suction and Compressed Air- 8 panel	150000	1	150000
17	Computer with central monitoring system	350000	1	350000
16	Glucometer with Strips (500 No.)	2500	1	2500
15	Magill's Forceps	1000	2	2000
14	Laryngoscope- Adult &paediatric- 2sets each	6000	1	6000
13	AMBU bag- paediatric	1500	1	1500
12	AMBU bag- adult	1500	2	3000
11	Wheelchair	4310	1	4310
10	Stretcher	4200	1	4200
9	Disaster trolley/ crash cart	20000	1	20000
8	Mechanical Ventilator (Basic Invasive)	810000	2	1620000
7	Suction machine (foot-operated)	15000	1	15000
6	Bi-PAP/ CPAP mask ventilator	215000	1	215000

J.RADHAKRISHNAN PRINCIPAL SECRETARY TO GOVERNMENT

//True Copy //

SECTION OFFICER